
	
Demostrar	mediante	deducción	natural	la	corrección	del	siguiente	argumento	(se	pueden	usar	
las	reglas	derivadas):		 	 	 	 	 	 	 	

T	[	¬∀x	P(x,x)	]		|⎯				∃y	(P(a,y)	→	∀x	P(x,x))	→	∃y	¬P(a,y)	
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1. ¬∀x	P(x,x)	 	 premisa	

2. 						 ∃y	(P(a,y)	→	∀x	P(x,x))	 	 supuesto	

3. 						 P(a,b)	→	∀x	P(x,x)	 	 elim	∃	2	(‘b’	constante	nueva)	

4. 						 ¬P(a,b)	∨	∀x	P(x,x)	 	 def	→	3	

5. 					 	¬P(a,b)	 	 corte	1,	4	

6. 						 ∃y	¬P(a,y)	 	 int	∃	5	

7. ∃y	(P(a,y)	→	∀x	P(x,x)	)	→	∃y	¬P(a,y)	 	 int	→	2,	6	

	


